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１ 次の計算をしなさい。 

① 4𝑥 × 2       ② 3𝑥 × (−6)     ③  (−5𝑎) × (−6)    ④   8 x  

 

 

 

⑤ 
3
29 a         ⑥  12

4
3

 x  

 

 

 

 

２ 次の計算をしなさい。 

① 8𝑥 ÷ 4       ② (−18𝑥) ÷ 6    ③  (−25𝑎) ÷ (−5)   ④  218 a  

 

 

 

⑤ 
3
28 x        ⑥ 

7
612  a  

 

 

 

 

３ 次の計算をしなさい。 

① 2(4𝑥 + 3)          ②  3(7𝑥 − 5)      ③    514  x  

 

 

 

④ −5(−2𝑎 − 1)         ⑤ 





 

6
1

9
218 x        ⑥   369 a  

 

 

 

 

⑦    61812 x      ⑧    5205  a  

 

 

 

 

文字の式（乗法，除法） 

） 

= 8 x = 187C = 30 a = 一 8 x

3
3

.

ー
ト

い

= 6 a = 9 x

= 2 a = 一 33C
44 ～ 9 a

3
= 8 c × 巨 = ー 12 ax 万

7

= 12x
= 一 ( 4 a

≈ 回 &ヒ

=8 ct 6 = 217c 15 = 205

= /Oat 5
= 18 × 5x . 18 ×人パ : 3at 2

= 4x 3

= 一 2 x 十 3 = A 一 4


